B A =Xl o AISIEXAIN S - 8 B8 (g@x] MiesMa] <J| 2012.8.7>

Y AIESZHIEDN

X

=1 A 0l

=T e
7|1Zk A e
| 2012; 11.: 121 ;J 311 ;ﬁl e
22 SUHHN
= S
= :ﬁ ?; #f; sigelgel g | 23X o | Jleac A =) e S,
s =3 R o £
1 1.4 1 3 N #O0000 | ME29H| 2,000,000
2 1.4 5 1 N 200 " 250,000
3 5.25 1 2 N Jlee " 2,735,712
4 7.19 1 4 N 810000 " 660,000
5 | 11.20 1 2 N 4000 " 1,500,000
6 | 11.30 1 2 N ol00O " 1,532,157
7 | 1212 5 1 N 200 " 500,000
8 12.28 5 1 N #0O " 600,000
9 | 12.28 1 4 N 50000 " 660,000

10,437,869




@y | FAZ | FAX 2 Cr—m Es T Act
28| ° Ao R NI FTE R  Rl Bl B By =k
A EF | 72 | gol 712 | o chel =%
= L“-g = =
g i 1
BIZick #0000
1| 2.2 N xA M2l AAFTE A 120 60,000
FETT | 0000000 | T e
BIZFEH
2 3.29 Y Y ZO0B0 AE 7 480 192,000
CE=F 1
3 6.08 azie N N AHOO00 bags | 2L 5 40 340,000
i wxgz | dEE E TS A
IZHCH ' am | -
4 6.08 exaz N N HOOOO G =z=EE | 2= 30 255,000
5 | gy | DRES N N 0000 | HzEE ou= 30 255,000
A EE%% b = )
Bl ket - e
6 6.08 wx3E N N olOO00 b=zgs LB 30 390,000
7 6.08 sl | N N olO000 H="g = 50 425,000
' CEE ; - - ‘
BIZ ek I
8 6.08 wxaE N N olOO00O 1328 7|E} 20 170,000
BIZICH] #0000
g 6.22 N 27 EFME 100 249 700
[FE =T 0000000
DIZIEH| #0000 LT
10 6.22 N HeE3E 100 330,000
gxaz 0000000 =L L
aIZIcH| #HO000 )
1 6.22 N MEME SHMURIHET S 100 520,000
CE =¥ 0000000
BIZICH #0000 ]
12 6.22 N EES Sl el el =t 100 450,000
$x3Z ooocooo | A |
olZHCh #0000
13 6.22 N = 22 = 100 81,400
L=+ 0000000 B mEmE
ol Z ek #0000
14 6.22 N = BEZF0F0E 100 85,800
[CE=F 0000000 o e
aIZhEkH| #0000 ) o AEH}
15 6.22 N 2o = 2. 300 436,200
FET=F 0000000 | Ssinjy =
alZhEk| #0000
16 6.22 N A SHFHHAT 100 307,500
$x3E 0000000 B
aIZIcH #0000
17 6.22 N x|2k x|ef 100 36,400
[CE3=F1 | 0000000
alZ ek ‘ #HOO00
18 6.22 N A& I 100 39,700
2x3E ! 0000000 |  *% s
RIRITE] | #0000 .
19 6.22 | N x=E3 2HRAEES 100 245,400
2x32 | 0000000 e |
QIZHeH| i #0000
20 6.22 N H|EfDl Z¢id|EfDI 100 150,000
L =¥ 0000000
oIZIEH ] ] '
21 11.05 N N MOOOOO00O x| Zx| 39 2,340,000
CEEE
alzhckH| AHOOO i
2 | 11.07 y Y Hjo| EHHE] SEETE 4 | 216,000
2x3E 00000 o "
alzich | ’ AHOOO X E ‘
23 11.07 'S Y M E 2El 8 120,000
Hx3E | ; 00000 | H=E
| ol Zkckx| | AKOOO
24 11.07 ¥ Y MEME MEMET 5 179,500
| | ¥x3F 00000 = s




2. TUE TUYAMIA

=] I o
ap | W | FEE (FERmmE TEESNEE| sax | ug 23 N
i | & T | wol 7j2 | ok el =Y
22 "8 e | ax

DIZhek| AOOO

25 | 11.07 wxaE | Y % oc}) S MEBHE HEMES 4 112,000
olzick | AHOOO

26 11.07 [ Y Y MAE MAE! 6 48
HEZE | 0000 -
0| Z Mk AMOOO

27 | 11.07 Y Y ofA gL oA 3 4 1
P e t [N 20,000
bl =] AMOOO

28 | 11.07 % Y ! & 80,0
wx3E cocoo | *E i g 900
QI Z bk

& | W | e N N |MOOOOOOO| ZIHHME HES7| 1 1,300,000
by g
b e

30 | 11.12 e N N [MOOOOOOO| 7IHxE WX 1 1,500,000
B2x3&

11,034,600




o =10 §g$% AlLE = T
Al2gdRt ALY =4 LA e MET|E Clhnd
=E 0%
1.25 yera f 1,062,980 REAIY M7} QI7]|
| |
T T
2.28 7|Ef2ods| 400,0{}0i [ 1 | EHM ME
1
6.11 Hzgt ~560,000 20174 EW4L 28 Y2
7.19 INEE] 770,000 K| H71BA
7.19 Al 265,000 AEz|d 719 EH =
7.19 AlgH| 385,000 XE7|Y 2|1S7HE, 72l AEX|IZAL
7.19 Al 250,000 A7 o 2 HQIEAY
7.19 Al 495,000 AET|Y 2 mE
7.19 Abeds| 47,300 AE7|Y EHE g
9.04 AlgH] 550,000 Se Feld A HEA
9.04 At 20,000 SE{Feld MEH x|
10.04 Aldy| 570,000 SE{32|d MEE 2 3 2|y

5,165,280




4. FUEF MSBHIM

o A AlCH
PR ERET NERTS NEPS SLEt T = 82
1 2.21 Fa Aret 1 120 60,000
2 3.20 £ Eoix} 480 192,000
3 6.08 HEZE Alch 40 340,000
4 6.08 H=gE Aldet 30 255,000
5 6.08 Hizg& At 30 255,000
6 6.08 H=ZE At 30 390,000
7 6.08 H=LE At 50 425,000
8 6.08 H=ZE At 20 170,000
9 6.22 Hus At 100 307,500
10 6.22 E=t Tt At 300 436,200
11 6.22 23 At 100 249,700
12 6.22 El= Mgt 100 150,000
13 6.22 MEBHE Argiet 100 520,000
14 6.22 = Alggt 100 81,400
15 6.22 5 At 100 85,800
16 6.22 =88 Aligt 100 245,400
17 6.22 |2} At et 100 36,400
18 6.22 A& AEt 100 39,700
19 6.22 ElM= Algict 100 450,000
20 6.22 =33 Algict 100 330,000
21 11.05 4= EHO§ R} 39 2,340,000
22 11.12 JHHHE Al i 1 1,500,000
23 11.12 I E Al | 1 1,300,000
10,159,100
5. T¥F MEA=H
=872 859 ¥E HEHS A =tHel
e eig=a ] 100-017-064063 MEZMEEXYAIEHH







